Oddéleni A: Oddéleni B:
PF. 1: PF. 2: PF. 1: PF. 2:
1172 = 15000% = 1192 = 19000% =
398% = 19202 = 308 = 1320% =
298% = 18300% = 7982 = 16300% =
733% = 7780% = 734% = 7680% =
PF. 3: PF. 4: PF. 3: PF. 4:
0,35% = 7,28% = 0,65% = 3,28% =
0,58% = 7,32 = 0,31% = 3,32 =
0,15% = 78,7% = 0,71% = 73,7% =
0,013% = 79,3% = 0,033% = 39,3% =
PF. 5: PF. 5:
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Oddéleni A: Oddéleni B:
PF. 1: PF. 2: PF. 1: PF. 2:
1172 = 15000% = 1192 = 19000% =
3982 = 19202 = 3082 = 13202 =
2982 = 18300% = 7982 = 16300% =
7332 = 7780% = 7342 = 76807 =
PF. 3: PF. 4: PF. 3: PF. 4:
0,35% = 7,28% = 0,65% = 3,282 =
0,582 = 7,32 = 0,31% = 3,32 =
0,15% = 78,7% = 0,71% = 73,7% =
0,013% = 79,3% = 0,033% = 39,3 =
PF. 5: 2 PF. 5:

3] -
() -

3] -
-

(3] -
) -

(] -

2

(1) -




